9-2 Tangents Worksheet II	Name _______________________________________
	Period ____________________
 (
A
O
D
B
C
) are tangent to ⨀O at B and D, respectively. Complete.
1. If OC = 15 and OB = 9, then BC = _____.
2. If OC =  and BC = 6, then OB = _____.
3. If AB = 12 and BC = 8, then OC = _____.
4. If OC =  and BC = , then AB = _____.
5. If  and OB = 4, then OC = _____.
6. If  and CB = , then AB = _____.
7. If _____ = _____.
8. If  _____.
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. Tell whether the cirles are externaly tanget,internallytangent,
or not tangent.
b Tell whether the line i a comman extrnal tangeat, & common
internal tangent, o neither.
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15, Find AC. 16. Find sP and RQ.
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